L2 COMPUTE time per input event Eniries 6278643 rate of COMPUTE s corasaa otal events. 0=anyinput ot i1 p eniies 12784830007
Mean 4326 — Mean 1037 Mean 1169
2 T N
€ : z
Q : RMS 467 Py RMS 5534 1469
& L. g
30 . Underflow 0 = Underfiow 0 +| undertiow o
Overflow 604 Overlow 17916406 J overtow o
[0 | R S U A [ H
10*
10°F
10°
10 .
IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII -ll-l-l-l-ll-l-l-l-l-ll-l-l-l-li-I-I-I-I-lJ-I-I-I-ll-l-l-l-ll-l-l-l-l-l
0 20 40 60 80 100 120 140 160 180 0 200 400 600 800 1000 1200 1400 1600 1800 2000 0 2 4 6 8 10 12 14 16 18
x: COMPUTE time (CPU kTics) X: time in this run (seconds) Input: 0=comp, 1=decis, user ..., 10=accept,...user
L2 DECISION time per input event Entries 45534 rate of DECISION Entes as534 ETOW-compute: #towers w/ energy /event Entries 6278643
Mean 4.34 Mean 3.362
o) T T ~ T
T : : : : : : z .
[ : . . . *|RMS 2.489 LR, leeealenastadRMS 2.88
> . . . . . ) v
F04 L EEEREE RPN R i :
> : : + | underfiow 0 IS Underfow | underfiow 0
: : overtow 105 Lo ¢ oveton o
103 ....... g — L
: 10
102 e S S
e R L AREEEN Freeeedeaaaes
-IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII 11 ) II;
0 5 10 15 20 25 30 35 0 200 400 600 800 1000 1200 1400 1600 1800 2000
x: DECISION time (CPU kTics) x: time in this run (seconds) x: # ETOW towers
L2 COMP+DECI time per input event Enties 45534 rate of ACCEPT s s ETOW: Seed Tower Number so552
Entries 665
Mean 17.54
~
T T PR
122 ;’ Mean  360.7
©
Underflow o = Underflow
[ 206
Overflow 36 1383404
10
1E
i I P P I O I P P B Y i

i 1
100 120 140 160 180

Mon May 29°63/G831 9517

0 200 400 600 800 1000 1200 1400 1600 1800 2000
X: time in this run (seconds)

0 500 1000 1500 2000 2500 3000 3500 4000 4500 5000



ETOW:

Cluster Seed Et GeV | Entries 66532

10*

10

10%

10

Mean

7.163
2.096

..........................................................................

0 30

ETOW-decision: accepted clust ... Entries 112329

10*

10

Mean

8.957
2.786

IIIIIIII| IIIIIIII| IIIIIIﬂ] IIIIIIII| [ TT

0 30

x: ET(GeV)

ETOW:

10*Seed Et/Cluster Et GeV | Entries 66532

10*

10

10?

10

Mean

8.178
1.577

.................... e b RMS




ETOW: Seed Tower Number

3

1 :._Z:Z'Z:Z'Z:Z:Z:Z:iZ:Z: PR

[°°f

Entries

£l Mean

RMS

66532

180.3

104.4

3

10

Entries

=l Mean

RMS

66532

537.2

101.2




ETOW-compute: #seed towers ET>4.20 GeV / event

Entries 6278643

o
]

~ Y: counts
[e2]

o

Mean 0.511

..............................................................

ETOW-decision: acc cluster ET>5.50 GeV

Entries 6324177

.........................................................................

........................................................................

l 'r'I'iTr1'I'i'l'I'I'r'i'r1'r1'i'1'I'I'I'i’1'r1'ri'l'1'I'I'i'r1'r1'i'1'l'r'l'i'l'r1'r
0O 10 20 30 40 50 60 70
X: # ETOW towers

80 90 100

O T Mean  0.5178
c
3
5} RMS 0.1334
S‘6

10 B ---cirrrrrde bbb
105 .......................................................................
104 -----------------------------------------------------------------------
103 ----------------------------------------------------------------------
102 ...................................................................
T e

1 'i1'r1'ri'rl'|'r'i'r1'r1'i'1'|'|'|'i1'r1'ri'|'1'|'|'i'r1'r1'i'|'|'|'|'i'|'r1'r

0 5 10 15 20 25 30 35 40 45 50

x:cluster ET(GeV)

ETOW-decision: any cluster

Entries

7| Mean

.........................................

B

...........

10*

45797

8.813

2.724

10

10

10

15 20 25

x: ET(GeV)

30

ETOW: Seed Tower Rank Entries 66532
105______.________. _______ L. L. U SO L .. | Mean 1.512
E RMS 0.1147
10° .............................
10° - oo
102 [ i o RS S .
10:— ------------------------------------------------------------

1 '|"i"|'i'|"i"|"|"|'i'|"|"|'|l'i'|"|"i"|'i'|"l'|"|'i'l'|"|"|'

0 2 4 6 8 10 12 14 16 18 20




[ ETOW: Seed Tower Quadrant Entries 45408

Mean 1.588
RMS 1.089

[ ETOW:

Cluster Et Sum GeV

= = =
= o o o
o R % >

o
I| IIIIIIII| IIIIIIII| IIIIIIII| IIIIIIII|

[

Entries
Mean

45408
8.825
2.728

ETOW: # non-zero towers per cluster

Entries
Mean

66532
3.096

— : 0.893
10* = R RRERCEL L SEEEELELRLEE,
10° = """""""
10% = """""""
10 = """""""
= 'I'"I'"I'".r"l'"l"'l"'l'"
0 0.5

Mon May 29 03:08:32 2017




